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5.6 ha = 56000 m? < 550000 cm?
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@ 6t = 6000000g @ 500kg = 04t
(@)120000 g = 1200 kg @ 0.03kg=30g
® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120kg
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(10 + 13 + 15 4+ 12) + 4 = 12.5(°C)
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4.3m = 430 cm
12+ o] Yol 430 x 250 = 107500( cm?) = 10.75(m?)
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(2) 20300000m2 = |ha
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1km? = 100 ha = 10000 a = 1000000 m?2
(1) 500 ha = 5km?

(2) 20300000 m? = 2030 ha

(3) 7000000 m? = 7 km?
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® 850ha, 8.5a
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® 850 ha = 85000 a

@ 4a=400 m?
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105 x 68 = 7140(m?) = 71.4(a)
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4.5t = 4500 kg ©]2& 4500 + 18 = 250 (AAH) dYt}.
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36 x 500 = 18000(kg) = 18(t)
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11.8°C

(8+12+16+13+10)+5 =59+ 5 = 11.8(°C)




